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The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.



(viii) Question numbers 19 to 24 in Section A are five-marks questions. These
are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

AT A
SECTION A

1.  HCOOH % 37Tl {0 o 419 3R ifuaes ¥ fafau | 1
Write the name and molecular formula of the next homologue of HCOOH.

2. “HrAm’ % AT qAT §eh S <l fofer o1 T foifaw | 1
Name the causative agent of the disease “Kala-azar” and its mode of
reproduction.

3.  Toreft wiftas © oTq=eshi i Yed yfue fafaw | 1

State the major role of decomposers in an ecosystem.

4. Tmafafea @ fore 3us wror N 2
(i)  BH AEA H IqA QU 1 99 G UV oh &I H J0IAT od @ |
(i) EHFC: 2, TOdEe ddT dT8al o TSl H 3Taddd eUull skl I9FNT
foman ST 2

Give appropriate reason for the following :

) Convex mirrors are preferably used as rear view mirrors in
vehicles.

(ii))  Concave mirrors are commonly used in torches, searchlights and
vehicle headlights.

5.  TTehideh HETEAT % GUING Ye-gd o fOIC fohU ST Hehdl aTcl 9IR 39T h1 g
SHTST | 2

List four possible measures for the sustainable management of natural
resources.
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Sharedft et Y St AT wafater W fRE YRR gWTE S W R 2 3@ wwen
%I A LA o g1 U i T TR |

How is the increase in demand of fossil fuels affecting the environment
adversely ? List two ways to minimise the problem.

frefafiga Aifient & stfvaes g3 foa@est gcs i goidgH-forg T gisy
() TN

(i) TdH

(iii) — TATEA

Write the molecular formulae of the following compounds and draw
electron-dot structure of each :

(1) Ethane
(11) Ethene
(ili) Ethyne

HEfIeh Alfehi b ThMIcHS THg § = arcqd g ? MHfaiad Jifeei
TEHTCHS §F I Ik TehicHeh THE i ATcTehl o €9 H GRSV :

i) T
(i)  TIHIgH A
What is meant by functional group of carbon compounds ? Write in

tabular form the structural formula and the functional group present in
the following compounds :

(1) Ethanol
(11) Ethanoic acid

I3 ded X Yo 3Terd TRl o gt Tg 3N =19 37ad § &ud 2 | 98 a
Y <h1 AT § TTeh FRIY TTF8E S1T @ |

(i) 39 I ol Y5 | 39 a 1 A 3T Jdieh fafg |
(i) 39 I &l sl fa=am fafay |

(i) 39 T % AFAES Bl IA W Ao T FH Tt AMGHAT T Tdferd
TEE FHe fafeT |




An element X’ is placed in the second group and fourth period of the
Modern Periodic Table. It burns in the presence of air to form a basic
oxide.

1) Identify the element. Write the name and symbol of this element.
(i1)  Write the electronic configuration of this element.

(i1i)) Write the balanced chemical equation for the reaction when the
oxide of this element is dissolved in water.

10. Be, Mg d91 Ca @&l § ¥ YA o STeIad sl H ¢ Soiaed Bid & IR A
JMYfTeh ST ARUM h ShAM: 2, 3 N 4 7T o TG & | Todeh Tohtul § gfee
X g efafed s & 3 i 3
(i) ¥ T 9 OHg o 9T & ?
(i) T8 ¥ HH-A1 ad T HA ATshamshic § 2
(i) S ¥ fopm o< 1 T s StfereRan g 2
The elements Be, Mg and Ca, each having two electrons in their
outermost shells, are in the periods 2, 3 and 4 respectively of the Modern

Periodic Table. Answer the following questions, giving justification in
each case :

(1) Write the group to which these elements belong.
(i1))  Name the least reactive element.

(iii) Name the element having largest atomic radius.

11. LU UGHdEE S JihaT 1 STTawde T @& AT Sl § 2 A S
&1 T H Tififeh S o TIHI <hl SATET HIRT | 3
Why is DNA copying considered an essential part of process of
reproduction ? Explain the advantages of sexual reproduction over
asexual reproduction.

12. Torelt go0 1 STgc=d-shre 1 oM@ Wige f=fcifaa 9Tt o1 iR i 3

i) AR
(i)  afdent
(iii) Al
(iv) TS
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14.

15.
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Draw longitudinal section of a flower and label on it the following parts :

1) Ovary
(i)  Style
(iii) Stigma
(iv)  Anther

A4 HieT o T | e feafaet § 89 aret gitedat o1 auie shifoie

(i) & 98 WA TV HLdT 7, IR
(i) & AT TGl ST |

Describe the changes the uterus undergoes in human female
1) when it receives the zygote, and

(i)  when zygote is not formed.

ST ICTEWN shl HETIAT § ST hIfT foh B AL 3rTelt Al 1 F9mgma
T T8 B9 & | 9 U Bl A hEd B 2

With the help of suitable examples, explain why certain traits cannot be
passed on to the next generation. What are such traits called ?

G TG % "X o didl i g fopedi, SH T e qen &S arell o
ol gifqr qen dict s areft off, < ot HeRtor R T |
(a) F;d & N v TR o g 3 .1 2

(b) I Fy didt & Neli T TR HRT AW A Fo, T H foha gwR *
Y YTed i ST ITRT TEI ST T B ?

A cross was made between pure breed pea plants, one with round and
green seeds and the other with wrinkled and yellow seeds.

(a)  What type of plants would be there in the F{ progeny and why ?

(b)  What type of plants would be obtained in Fy progeny, if F; plants
are self-pollinated and what would be their ratio ?

JehTST o AU o an faRge | afe frata & e 6 =17 3 x 108 my/s &, @
30 T W JehTSl 1 A1t uiehfera hifore fraest fuer staedmes 4/3 2 |

State the laws of refraction of light. If the speed of light in vacuum is
3 x 108 m/s, calculate the speed of light in a medium of absolute
refractive index 4/3.




17. TR T YehIU 1 BT 2 2 Tqse shifore fob amreprer el w1 Ieita grar 8 aen
AT qAT FATEA o THI TR TFH FA1 Jeld gram 7 | 3

What is scattering of light ? Explain why the sky appears blue and the
sun appears reddish at sunrise or sunset.

18. “FUR W, W9 g IR 6w, aferdl 3N wA 9° wiE 9 ° o figw
AT o 3rafyrse fofiye ATneT | 9| S48 |7 Rl 9igd saredn hifve
T fore YR 3T AT BraT R | 3

“Our food grains such as wheat and rice, vegetables and fruits and even

meat are found to contain varying amount of pesticide residues.” State

the reason to explain how and why it happens.

19. Sfawd o1 § 23 fohd YR o9d 3 2 IUH ISIEWN Shl wErEIdT | Sa-faskhE &
AT | SiaTeHt & HEwd 1 3gE i | 5

What are fossils ? How are they formed ? State the importance of fossils

in the study of evolution, with the help of suitable examples.

20. Uehfemfl dom IATITt g5 § Tedeh 1 Teh-Ush 3aTaXVl ST | TRATOT RT3 2
39 TR hl T S5 IR 39h HEd 1 3g@ hirwe | Forelt g7 8 fmem
% YT B ATl Ul T 3@ i | 5

Give one example each of a unisexual and a bisexual flower. What is

pollination ? List its types and state its significance. Mention the changes
a flower undergoes after fertilisation.

21. I3 D FREl AY 1 TN Hich HIHET hl SATAT o JfdTeFa sl TITTRTAT h

AR T Y&TUa T =mEd 7 | 5

(i) 3% Tr8 Yepld 1 <18 ITANT HET AT SR F41 ?

(i) g <\ i ®rHE g 1 IRATT 10 cm &, 1 W ST I ¥ G fepat
U W W =1 o dar W/ saren 1 (a) foafda gfdfers; (b) te
yfcfers 59 |

(il) g I8 SATAT I @F 8 5 cm G W T@AT g, Al &1 AN ? 319 I I
gfee Tmiferd fopor em@ it i |
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23.
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A student wants to project the image of a candle flame on the walls of the
laboratory by using a lens.

) What should be the nature of lens and why ?

(ii))  If the magnitude of focal length of the lens is 10 cm, at what
distance should he place the flame so as to get a (a) magnified
image; (b) diminished image on the wall ?

(iii)) What will happen if he places the flame at a distance of 5 cm from
the lens ? Draw a labelled ray diagram to justify your answer.

13 foF 18 cm BIHH gl o 3fadc gUUT o HHH 9 cm O W f&d 2 | &
et wicifers i g aiepfad HINT | 38 FohUUT § Wfdfers =41 g9 o g
Amifera fortor s Eifa |

An object is placed at a distance of 9 cm in front of a concave mirror of

focal length 18 cm. Calculate the distance of the image formed. Draw a
labelled ray diagram to show the formation of image in this case.

e 33 o fFefafad 8 8 g vr =1t % 999 § fafeu

(i)  RdriE

(i) gl

(i) TEa=IUSA (HIfaT)

(iv)  vemmeft ufdmr

AR <V & oAEl 5=, et g 12 99 & o R, it ofuar @ difga & | 39
Sl ! TG gRI IS i1 o JIRI & 3ieh foham ST Heha1 B | 86 &=
3R foFE TR WS IR THTS o WGl i Yo % RN e % g
TIcHT(Ed AT =8 ? 36 94 o a1 H FOIS H SN](d e HEAT F1 AeRTh
37

State in brief one function of each of the following parts of the human eye :
1) Iris

(i)  Pupil

(111) Cornea

(iv)  Ciliary muscles

Lakhs of children of our country below the age of 12 years are suffering
from corneal blindness. This defect of children can be cured by replacing
the defective cornea with the cornea of a donated eye. How and why
should we organise in groups to motivate the community members to
donate their eyes after death ? Why is it essential to create awareness in
the society about this fact ?



24, 3FH ANh T G a7 79 STEIAH I T AT TTed hlch AT bl
BT leh Icpte 119 foamd UTed oL o & | T od g AT HIfIT foh hreid
A Aiftrent w1 Fmi =@ 4 39 faft &1 S5 w= T8 R Fhar | IS
Aftrent o 10T § 599 917 ARG IR HIEA o ARl & FAT § 991 91
A o YhN o IW fafgu | wrur gfigg a8 ot 3g@ HIifSe foh weT &
ifires ;o o P w Bid | | 5

Elements forming ionic compounds attain noble gas configuration by

either gaining or losing electrons from their outermost shells. Give reason
to explain why carbon cannot form its compound in this manner. Name
the type of bonds formed in ionic compounds and in the compounds
formed by carbon. Also give reason to state why carbon compounds are

generally poor conductors of electricity.

R IRINC)
SECTION B

25. I B Hid Hh AR g @ Tt T areft forelt seprer fopor &1 a
AT S & A ae & foe emfea #ar 3 1 98 T @ STt
GEYgl & 1Y Hieh (AT hIUT bl HUAT & | 3T A o [P & 39
fafafgad § 9 s-a1 feend e =g 2 1
A Zi=ZLe< Zr
(B) Zi=ZLe > Zr
C) Zi>Le>Sr
D) ZLe>sLi>Lr

A student traces the path of a ray of light through a rectangular glass
slab for the different values of angle of incidence. He performs the
experiment very carefully and measures different angles. On analysing
the measurements, which one of the following conclusions should
he draw ?

(A) ZLi=ZLe< Zr
B) Zi=Ze> Zr
C) ZLi>ZLe>Sr
D) ZLe>sLi>Lr
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HIE BA AU B0 & iy 7l o fore Brepofis wfa & s 9 3o o
aTeAl TRt fortor 1 v 3Mfgd wtar g | foptor et w1 foveimer = W
famfafaa 4 @ wa-ar fased g g 2

(A) Tl foor srmafaa femtor o wmT=at B R |

B) ffa fortor safaa fomor & e gt § |

(C) Tia fomor wea & smufaa foor <t foem @ ferelt wvior W g 9Tt B
(D) fid =hIor e <hior & SHISR BT R |

A student traces the path of a ray of light through a triangular glass
prism for different values of angle of incidence. On analysing the ray
diagrams, which one of the following conclusions would be correct ?

(A) Emergent ray is parallel to the incident ray.
(B) Emergent ray is perpendicular to the incident ray.

(C) Emergent ray always bends at an angle to the direction of incident
ray.

(D)  The angle of emergence is equal to the angle of refraction.

T A A = & TS "ot @lid

3T, THTER, Hefl, 3TETh, TSR, Iehtehe! ST HerTH

3 gfesll O gHTd TeeATe S fFEfua o aref o afest - g 2
(A) I IR IR

(B) T 3R TSR

(C)  3Tq] 3R AT

(D) 21T 3 Jhiehe]

10
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A person has purchased the following vegetables :
Potato, Tomato, Radish, Ginger, Carrot, Sweet potato and Cauliflower

Which two of these vegetables represent the homologous structures ?
(A) Potato and Sweet potato

(B) Radish and Carrot

(C) Potato and Tomato

(D)  Ginger and Sweet potato

foret B 3 T (3 foreft ) & YO1 1 Y0 KTk 3Tk A fgT T AR

I g 1
I. e

II. 3Hd:hdd

1. qAH

IV. Wig

HEl g T W 8

(A) LII9III
(B) I, IIaIV
(C) LIIaIV
(D) LIITIV

A student observed an embryo of a red kidney bean and identified its four
parts as

I. Cotyledon

II. Tegmen
III. Radicle
IV.  Plumule

The correctly identified parts are
(A) I,II and III

(B) II III and IV

(C) LIIIandIV

(D) LII,and IV

11 P.T.O.
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IR gt L I 11 3T IV 8 9 Jigdr o (aiie ddo & St foeaT |
2 | WEaelt [ § Hifeam #Ass, [ § Sfcoem oiss, [ § Aeifem
FARTES qAT IV T T Feiiiss o faead W & | I 31T Yedsh qugell o
foreht I19F % dic o T3 1 SR AET et qEEett it gl @ fgend,
Ta Tohe TREHT™l § T o T The (STEa-Rie ggred) S 2

(A) IaI1I

(B) II9III
(C) HIIaIV
D) I9I1Vv

Aqueous solutions of four different salts of the same concentration are
filled in four test tubes I, II, III and IV. In the test tube I solution of
sodium chloride, in II solution of calcium chloride, in III solution of
magnesium chloride and in IV solution of potassium chloride is filled. If
you add equal amounts of a sample of soap solution to each test tube and
shake the contents, in which test tubes will scum (insoluble substance) be
formed with soap ?

(A) TandII

(B) IIandIII

(C) III and IV

(D) TandIV

T S hl Tfshal § ITed g JTel IS ¢

(A)  TAEHIA
(B) fomri@
(C) THE
(D) TSRS

During the process of soap formation the by-product formed is :
(A)  Glycol

(B)  Glycerol

(C)  Glucose

(D)  Glycogen

12
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TR ATAfR 1 AR Hd Ty Al o9 AfufsRan fasor &1 A
3R |19 & Aot/ fofend o gy 39 fasor < wepfa off [ W, @ dequn %
g W @ ey feperm 2 1

(A)  sAfufshan Semad 8 3 stfufsean s ard 2
(B)  Affsham Femmadt B o7 Afulshan fugmr vty 3
(C)  fufsran Feamemdt 8 o safufsran frsor srff 2
(D) afufsran FwmRieh @ SR srfvfsean fismn el 2

While studying saponification reaction, if you measure the temperature
of the reaction mixture and also determine its nature using blue/red
litmus paper, then on the basis of observations the conclusion drawn
would be

(A) The reaction is exothermic and the reaction mixture is basic
(B) The reaction is exothermic and the reaction mixture is acidic
(C) The reaction is endothermic and the reaction mixture is acidic

(D) The reaction is endothermic and the reaction mixture is basic

relt B 7 399 9 g TRl wmehIal fora o1 STcafies ®ier fdfard w8 «
T R frm 2 | 9 Sl BiehE gt a0 A o TOIT 38 1 WO =ee 2 1

(A) <9 d 9@ H gl

(B) | ¥ fors i gl

(©) fors @ yfdfers 61 gl

(D) @ I HIeg AR fors @ ug A g0

A student has obtained the image of a bright object on a screen using a
convex lens. In order to determine the focal length of the lens he shoud
measure the

(A) distance of the screen from the lens
(B) distance of the object from the lens
(C)  distance of the image from the object

(D)  thickness of the lens and the distance of the object from the screen

13 P.T.O.



33. Torelt B 3 Fi= o7 # Tuiv gER 7€ W I w1 vfafers ared & & e
Ik X 1 T ot | IRk X fowa & Tt sved A |

[T 7777777777 777777777777

A)  IRE X, 12 cm BIHE g HT 3T 40T 2 |
(B) IMF X, 12 cm BIHH gt T 397 04 2 |
(C) IRk X, 12 cm BT G 1 3Tadd QU0 2 |
(D) Jk X, 12 cm BIHH g I 397 0 2 |

A student used a device X’ to obtain the image of the Sun on a screen ‘S’

as shown in the diagram. Select the correct statement about the device
X

[T 777777777 77777777 7777777
(A)  Device X’ is a convex mirror of focal length 12 cm.
(B)  Device X’ is a convex lens of focal length 12 cm.
(C)  Device X’ is a concave mirror of focal length 12 cm.

(D) device X’ is a concave lens of focal length 12 cm.

531/3 14
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Hs 2:0 cm T forg 10 cm w8 g % el 399 oW % g 1| %
e T @ | fore ol 8 A g 15 cm 3 | TRt o 3T EiereRt Nidfers
1 Thid IR feufa sma Hie | wlafers S awamg Wi Ao fafag |

A 2-:0 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 10 cm. The distance of the object from the lens
is 15 cm. Draw a ray diagram to find the nature and position of the image
formed. Also measure and write the length of the image.

Ifg g fopefl WEAelt § 2 mlL UHifCH T iRt ITH T goohl Hitedd
BIEEISH HIEMHE BTet, O 379 g &t o Yo7 il ? 39 Affshan o fepe
Al NE T I 31 37k wdieqor <t fafer fafay |

If you take 2 mL of acetic acid in a test tube and add a pinch of sodium

hydrogen carbonate to it, what would you observe immediately ? Name
the gas evolved in the reaction and write a method to test it.

A T Gepord o fafy =Xort ol g+ o fofw Amifera @ i |
Draw a labelled diagram to show the different stages of budding in yeast.
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